
5/8/2025

R25 (R), All ex US50, CA

5/8/25, 10:42 AM Husqvarna 129C Grass trimmer | Husqvarna Portal AU

https://portal.husqvarnagroup.com/au/grass-trimmers/129c/?article=967193202&printipl=true&iplId=HVA_PL-000017125 1/10



5/8/25, 10:42 AM Husqvarna 129C Grass trimmer | Husqvarna Portal AU

https://portal.husqvarnagroup.com/au/grass-trimmers/129c/?article=967193202&printipl=true&iplId=HVA_PL-000017125 2/10



1 525755103
SCREW ITXSCFM M5X30 T27

10.9 Zn/Fe
1

2 522928903 CRANKSHAFT ASSY 1

3 589568901 NEEDLE BEARING UPPER ROD 1

4 503873305 Starter pawl bridge 1

5 579522901
GASKET GASKET, BASE

GASKET, BASE 28CC
1

6 525755102
SCREW ITXSCFM M5X20 T27

10.9 Zn/Fe
1

7 579622601 GASKET INSULATION WALL 1

8 579622501 ASSY INSULATION WALL 1

9 580985501 ASSY FILTER HOLDER 1

10 573925801
SCREW ITXSCFT MT5x16 T27

10.9 Zn/Fe
1

11 573925802
SCREW ITXSCFT MT5x50 T27

10.9 Zn/Fe
1

12 545008097 KIT CARBURETOR 1 CARBURETOR

13 586853301 GASKET CARB ADAPTER 1

13 599604201

SERVICE KIT RUIXING

CARBURETOR GASKET 128,

129, 125B, HVA130/135

1

14 525760906
SCREW ITXSCM M4x18 T27

12.9 TBO
1

15 525615401 SCREW Clutch 1

16 525613001 WASHER Clutch upper 1

17 575762202 ASSY CLUTCH 1 INCL. 33

18 525612901 WASHER Clutch lower 1

Refere

nce

Article Number Article Name Quantit

y

Comment

5/8/25, 10:42 AM Husqvarna 129C Grass trimmer | Husqvarna Portal AU

https://portal.husqvarnagroup.com/au/grass-trimmers/129c/?article=967193202&printipl=true&iplId=HVA_PL-000017125 3/10



19 731711651
HEXAGON NUT FLANGE ISO

4161 M6 10 ZPB
1

20 510088202
FLYWHEEL D90 4 threaded

holes
1

21 525755101
SCREW ITXSCFM M5X16 T27

10.9 Zn/Fe
1

22 597383401
IGNITION MODULE 129

PLATFORM FENGLONG
1

25 580985801 GASKET 1

26 545008098 MUFFLER KIT 1 MUFFLER

27 545008093 KIT SPARK PLUG 1 SPARK PLUG

28 580446632 KIT CRANKCASE ASSY 1 CRANKCASE

29 591397601

SERVICE KIT CYLINDER AND

PISTON NO THRUST

WASHERS

1 PISTON & CYLINDER

30 580446603 KIT SPARK ARRESTOR 1 SPARK ARRESTOR

31 501856201 SEAL KIT AND BEARINGS 1

32 579522801

GASKET GASKET,

CRANKCASE GASKET,

CRANKCASE 28CC

1

33 587037001 SPRING CLUTCH 1

34 584993902
SHORT CIRCUIT CABLE

ENGINE MOLEX CONNECTOR
1

35 590553502
SERVICE KIT 129 PISTON NO

THRUST WASHERS
1 PISTON

36 579524601 PISTON RING 36MM 1

41 580446604 KIT CARB GASKET 1 CARBURETOR GASKET

42 545008095 KIT GASKET 1 GASKET KIT

5/8/25, 10:42 AM Husqvarna 129C Grass trimmer | Husqvarna Portal AU

https://portal.husqvarnagroup.com/au/grass-trimmers/129c/?article=967193202&printipl=true&iplId=HVA_PL-000017125 4/10



5/8/25, 10:42 AM Husqvarna 129C Grass trimmer | Husqvarna Portal AU

https://portal.husqvarnagroup.com/au/grass-trimmers/129c/?article=967193202&printipl=true&iplId=HVA_PL-000017125 5/10



1 537213209 KNOB 26.7 grey 1

2 524853801 FILTER COVER 1

3 574242701 AIR FILTER 1

4 574162304 TANK CAP ASSY 1

5 545008094 KIT FUEL TANK 1

6 731231401
HEXAGON NUT ISO 4032 M5 8

ZPB
1

7 574444001
SCREW ITXSCT MT4x18 T27

10.9 Zn/Fe
1

8 585644901 GUARD CLUTCH COVER 1

9 525755104
SCREW ITXSCFM M5X25 T27

10.9 Zn/Fe
1

10 584993801
CLUTCH COVER ASSY

COMPLETE A053
1

11 578426601 CLUTCH DRUM ASSY 1

12 524853701 CHOKE BUTTON 1

13 580294001 ASSY STARTER COVER 1

14 545112801 SCREW 1

15 545008079 KIT-ROPE 1

16 575489501 STARTER HANDLE 1

17 573925801
SCREW ITXSCFT MT5x16 T27

10.9 Zn/Fe
1

18 525755101
SCREW ITXSCFM M5X16 T27

10.9 Zn/Fe
1

19 545008096 KIT FUEL LINE 1

20 585530301 KIT PULLEY/SPRING 1

Refere

nce

Article Number Article Name Quantit

y

Comment

5/8/25, 10:42 AM Husqvarna 129C Grass trimmer | Husqvarna Portal AU

https://portal.husqvarnagroup.com/au/grass-trimmers/129c/?article=967193202&printipl=true&iplId=HVA_PL-000017125 6/10



21 545008087 KIT STARTER SPRING 1

22 579366201 PULLEY STARTER DRIVE 1

23 578465101 DRIVER SPRING 1

24 574603901 Fuel filter 1

24 530058783 CLUTCH DRUM Adapter 1

5/8/25, 10:42 AM Husqvarna 129C Grass trimmer | Husqvarna Portal AU

https://portal.husqvarnagroup.com/au/grass-trimmers/129c/?article=967193202&printipl=true&iplId=HVA_PL-000017125 7/10



5/8/25, 10:42 AM Husqvarna 129C Grass trimmer | Husqvarna Portal AU

https://portal.husqvarnagroup.com/au/grass-trimmers/129c/?article=967193202&printipl=true&iplId=HVA_PL-000017125 8/10



1 574489003 ASSY THROTTLE 1

1 584994001 CABLE SHORT CIRCUIT HND 1

2 574355301
TRIGGER THROTTLE HVA

ORANGE
1

3 545223001 HSG THROTTLE RIGHT HVA 1

4 574444001
SCREW ITXSCT MT4x18 T27

10.9 Zn/Fe
1

5 584294001 SCREW 1

6 530016454 RETURN SPRING 1

7 580446609 KIT SERVICE DRIVESHAFT 1 For North America sold units

7 580446613 KIT DRIVE SHAFT 1
For units not sold in North

America

8 530059185 CLAMP CLAMP HANDLE. 1

9 530016152 WING NUT 1

10 545223201 HSG THROTTLE LEFT HVA 1

11 545049309 SWITCH 1

12 545042202 HANDLE ASSIST SOFT 1

13 530015820 BOLT, TYPE 2 1

14 580446610 KIT SHIELD 1

15 530052287 BLADE 1

16 584410001 SCREW 10-14X3/4 PLASTITE 1

17 530015820 BOLT, TYPE 2 1

18 530015197 NUT 1

19 545017403 CUP DUST 1

20 537338305 Trimer Head T25 1

Refere

nce

Article Number Article Name Quantit

y

Comment

5/8/25, 10:42 AM Husqvarna 129C Grass trimmer | Husqvarna Portal AU

https://portal.husqvarnagroup.com/au/grass-trimmers/129c/?article=967193202&printipl=true&iplId=HVA_PL-000017125 9/10



21 574355401
THROTTLE LOCKOUT HVA

ORANGE
1

24 580446611 KIT DECAL 1

25 584268701 ASSY THROTTLE HANDLE 1

5/8/25, 10:42 AM Husqvarna 129C Grass trimmer | Husqvarna Portal AU

https://portal.husqvarnagroup.com/au/grass-trimmers/129c/?article=967193202&printipl=true&iplId=HVA_PL-000017125 10/10


